INSTRUCTIONS: Use this form when a single information collection document involves <u>multiple</u> reporting and recordkeeping requirements. The totals of the figures in cols. (D), (F), (H), (I), & (K) should be entered in items 17 & 18 of OMB-83-1. For cols. (E), (F), & (J), the averages of the totals shall be computed, as follows, & then entered on the OMB-83-1. (G) Average (K) Total/(I) Total = (J) Average automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display. ITILE OF INFORMATION COLLECTION DOCUMENT I National Research, Promotion, and Consumer Information Programs Information Programs January 31, 2011

IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	JRDEN		-	
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(К)
	DESIGNATED HANDLER'S or MONTHLY ASSESSMENT REPORT						(7)		(1)	
1218.60	- Blueberries (First Handler Report)	BLU-FHR	200	1.0000	200.00	0.5000	100.00			0.00
1218.60	Blueberries (Grower Report)	BLU-GRF	2,000	1.0000	2,000.00	0.5000	1,000.00			0.00
1260.172(a)(5)	Beef (Monthly Report)	No Form Number	5,000	12.0000	60,000.00	1.0000	60,000.00			0.00
1205.331, .3 34, .335, .33 6, .511, .512, .514, .516, .5 31	Cotton (Collecting Handler Report)	No Form Number	304	7.0000	2,128.00	0.5000	1,064.00			0.00
1150.171	Dairy (ProducerMonthly Report)	DA-20	600	12.0000	7,200.00	0.5000	3,600.00			0.00
1160.401	Dairy (ProcessorMonthly Report)	DA-20R	258	12.0000	3,096.00	0.5000	1,548.00			0.00
1250.347, .349, . 352, .515, .516, . 529	Eggs (Collecting Handler Report)	No Form Number	159	12.0000	1,908.00	0.1660	316.73			0.00
	SUBTOTAL		8,521		76,532.00		67,628.73	0.00		0.00
	TOTAL OF ALL PAGES				428,902.00		146,728.84	74,079.00		20,482.55

то	TAL - COLUMNS "F" AND "I" = OMB 831, 13 b COLUMNS "H" AND "K" = OMB 831, 13c				502,981		167,211.38			
and recordkeepi in items 17 & 18 follows, & then e	S: Use this form when a single information collection docume ng requirements. The totals of the figures in cols. (D), (F), (H of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot intered on the OMB-83-1. (F) Total/Total = (E) (F) Total/(I) Total = (J) Average NOTE: The co), (I), & (K) shoul als shall be comp	d be entered outed, as otal/(F) Total =		MATION COLLECTIC arch, Promotion, a			Programs	омв NO. 0581-0093 Дате рверај	RED
	Col. E's response is something other than annually, i.e., 1/6					January 31, 2011				
IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT	_				ANNUAL BU	JRDEN	1		
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	REPORTS TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
	DESIGNATED HANDLER'S or MONTHLY ASSESSMENT REPORT (cont'd)									
1219.60(b)	Hass Avocados (First Handler Rept.)	AVO-FHR	100	12.0000	1,200.00	0.5000	600.00			0.00
1212.70	Honey P&I (Monthly First Handler Request)	HON-FHR	45	12.0000	540.00	0.5000	270.00			0.00
1280.217, .2 18, .219, .22 0	Lamb (Monthly Remittance Report)	LS-81	500	12.0000	6,000.00	1.0000	6,000.00			0.00
1206.42	Mangos (First Handler Report)	MAN-FHR	5	12.0000	60.00	0.5000	30.00			0.00
1209.260	Mushrooms (First Handler Report)	MUS-FHR	80	12.0000	960.00	0.5000	480.00			0.00

1216.60	Peanuts (First Handler's Report)	PEA-FHR	50	12.0000	600.00	0.5000	300.00		0.00
	SUBTOTAL		780		9,360.00		7,680.00	0.00	0.00

Soybeans [LS-46 -- users with first-time recordkeeping systems and LS-46-1 -- first-time purchasers that cannot

supply information required on primary remittance form]

Watermelons [If new handlers/producers need to be

added, a supplemental page would be completed.] (Paper

SUMMARY OF INFORMATION COLLECTION

and recordkeepir	: Use this form when a single information collection docume g requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot), (I), & (K) shoul	d be entered		MATION COLLECTIC arch, Promotion, a			Programs	омв NO. 0581-0093		
follows, & then ex (G) Average (K automatically. If	ntered on the OMB-83-1. (F) Total/Total = (E)	Average (H) To lumns will calcul	otal/(F) Total = ate					rograma	DATE PREPARED		
will display.		1							January	31, 2011	
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT	-				ANNUAL BU	JRDEN				
					REPORTS				RECORDS	TOTAL	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B) DESIGNATED HANDLER'S or MONTHLY ASSESSMENT REPORT (cont'd)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(L)	(K)	
1215.60	Popcorn (Processor) (Quarterly Rept.)	POP-FHR	23	4.0000	92.00	0.5000	46.00			0.00	
1203.71(b) (3)	Pork (Investment ReptMonthly) (same report used for Monthly & Quarterly reporting)	LS-101	1,000	12.0000	12,000.00	1.0000	12,000.00			0.00	
1203.71 (b) (3)	Pork (Investment ReptQtrly.) (same report used for Monthly & Quarterly reporting)	LS-101	1,000	4.0000	4,000.00	1.0000	4,000.00				
1207.350	Potatoes (Designated Handler's Rept.)	POT-FHR	1,253	12.0000	15,036.00	0.5000	7,518.00			0.00	
1207.350	Potatoes (Designated Handler's ReptSeed)	POT-SHR	100	12.0000	1,200.00	0.5000	600.00			0.00	
1221.116	Sorghum Monthly Report Collecting Handler	LS-378	1,850	12.0000	22,200.00	0.2500	5,550.00			0.00	

5,000

442

4.0000

4.0000

20,000.00

1,768.00

1.0000

0.7500

20,000.00

1,326.00

LS-46 or

LS-46-1

WAT-FHR

1220.223

1210.350

version)

0.00

0.00

	SUBTOTAL				76,296.00		51,040.00	0.00)	0.0
and recordkeep in items 17 & 18 follows, & then ((G) Average (S: Use this form when a single information collection docume ing requirements. The totals of the figures in cols. (D), (F), (H & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 &), (I), & (K) shou als shall be comp Average (H) To Jumns will calcul	d be entered outed, as otal/(F) Total = late		MATION COLLECTIC arch, Promotion, a			Programs	омв NO. 0581-0093 DATE PREPA January	RED 31, 2011
IDENTIF	FICATION OF REPORTING OR RECORD KEEPING REQUIREMENT					ANNUAL BU	JRDEN			
					REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOUR (Col. I x J) (K)
	DESIGNATED HANDLER'S or MONTHLY ASSESSMENT REPORT (cont'd)									
1210.35	Watermelon Designated Handler's Rept. (Electronic Test Version) Burden accounted for under paper version	WAT-EFH	0	0	0	0	Ο			
1260.311(f)	Certification of Producer Directed Payment of Cattle Assessments - Beef	None	100	4.0000	400.00	0.2000	80.00			0.1
1205.516	COTTONNO COTTON PURCHASED REPORT [No burden determined, signature only.]	No Form Number			0.00		0.00			0.
1205.530	COTTON - END OF SEASON GINNING REPORT -	CB-4.R1	649	1.0000	649.00	0.5000	324.50			0.0
	IMPORTER REPORT [No forms Per AMS regs, U.S. Customs and Border Protection collects the information at the port of entry and if requested sends info to Boards]						0.00			0.

	SUBTOTAL				1,049.00		404.50	0.00		0.0	
and recordkeepir in items 17 & 18	: Use this form when a single information collection docume g requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot intered on the OMB-83-1.), (I), & (K) shoul als shall be comp	d be entered outed, as		MATION COLLECTIO			Programs	омв NO. 0581-0093		
G) Average (K automatically. If will display.	(F) Total/Total = (E)) Total/(I) Total = (J) Average NOTE: The co Col. E's response is something other than annually, i.e., 1/6 y	lumns will calcul	ate						DATE PREPA		
	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	JRDEN		January 31, 2011		
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOUR (Col. I x J)	
(A) 1260.172(2)	(B) PRIVATE TREATY SALES CHECKOFF INVESTMENT FORM	(C) No Form Number	(D)	(E) 1.0000	(F) 12,000.00	(G) 0.0300	(H) 360.00	(1)	(J)	(К)	
1250.519	Beef STATEMENT OF DELINQUENT HANDLER ACCOUNTS Eggs [No burden determined; only used to show outstanding assessment payments.]	No Form Number	5	4.0000	20.00	0.0000	0.00			0.0	
	REFERENDUM BALLOT										
1218.105	Blueberries	FV-261	1,653	0.2000	330.60	0.2500	82.65			0.0	
1205.30	Cotton Continuance Referendum [Attachments A, B, C, D & Ballot envelope]	CN-100	29,937	0.2000	5,987.40	0.1000	598.74			0.0	
250.20020	Eggs	PY-1	171	0.2000	34.20	0.5000	17.10			0.9	
1219.104 (c)	Hass Avocados Official Referendum Ballot	AVO-ORB	6,200	0.1250	775.00	0.2500	193.75			0.	

	Hass Avocados Official Referendum Registration	FV-326	6,200	0.1250	775.00	0.2500	193.75		0.00	
	SUBTOTAL				19,922.20		1,445.99	0.00	0.00	

INSTRUCTIONS: Use this form when a single information collection document involves <u>multiple</u> reporting and recordkeeping requirements. The totals of the figures in cols. (D), (F), (H), (I), & (K) should be entered in items 17 & 18 of OMB-83-I. For cols. (E), (F), & (J), the averages of the totals shall be computed, as follows, & then entered on the OMB-83-1.

 TITLE OF INFORMATION COLLECTION DOCUMENT
 OMB NO.

 National Research, Promotion, and Consumer Information Programs
 0581-0093

DATE PREPARED

January 31, 2011

	(F) TOtal/TOtal – (E) Average (H) Total/(F) Total – [£
(G) Average	(K) Total/(I) Total = (J) Average	NOTE: The columns will calculate	Ĺ
automatically.	If Col. E's response is something other than	annually, i.e., 1/6 years, list as "1/6" & decimal	Ĺ
will display.			Ĺ
1			í.

									January	31, 2011
ORTING OR RECORD					ANNUAL BURDEN					
			REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOU (Col. I x J)
(A)	(B) REFERENDUM BALLOT (cont'd)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
1212.81	Honey P&I	HON-ORB	75	0.2	15	0.25	3.75			0.
1206.71	Mangos	MAN-ORB	60	0.2	12	0.25	3			0
1209.302	Mushrooms	FV-229	125	0.2	25	0.25	6.25			0.
1216.105	Peanuts	FV-258	13,000	0.2000	2,600.00	0.2500	650.00			0.
1215.502	Popcorn	POP-ORB	23	0.3333	7.67	0.2500	1.92			0.
1207.362	Potatoes	POT-ORB	6,201	0.1111	688.93	0.2500	172.23			0.
1221.130	Sorghum	LS-379	8,300	0.2000	1,660.00	0.1000	166.00			0.
1220.615 (b)	Soybean	LS-49	100,000	0.2000	20,000.00	0.1000	2,000.00			0.
1210.363	Watermelons	WAT-ORB	2,089	0.1250	261.13	0.2500	65.28			0
	REQUEST FOR REFERENDUM									
1220.620	Soybean APPLICATION ASSESSMENT EXEMPTION FOR PRODUCER OR IMPORTER (Certificate of Exemption issued if qualified; no burden)	LS-51-1	100,000	0.2000	20,000.00	0.1000	2,000.00			0
L218.53	Blueberries Application Assessment Exemption	BLU-AAE	150	1.0000	150.00	0.2500	37.50			0
L21253 (c)	Honey P&I Application for Certification of Exemption	HON-AAE	25	1.0000	25.00	0.2500	6.25			о
L206.43	Mangos Application for Certificate of Exemption	MAN-AAE	6	1.0000	6.00	0.2500	1.50			0
.209.52	Mushrooms Application for Certificate of Exemption	MUS-AAE	115	1.0000	115.00	0.2500	28.75			о
215.300	Popcorn Application for Certificate of Exemption	POP-AAE	40	1.0000	40.00	0.2500	10.00			0
	SUBTOTAL				45,605.72		5,152.43	0.00		0

and recordkeepir n items 17 & 18 follows, & then e	Use this form when a single information collection docume ng requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot ntered on the OMB-83-1. (F) Total/Total = (E)), (I), & (K) shoul als shall be comp Average (H) To	d be entered outed, as otal/(F) Total =		ATION COLLECTIO arch, Promotion, a			Programs	омв NO. 0581-0093	
G) Average (K automatically. If vill display.		lumns will calcul	late						January	red 31, 2011
RTING OR RECORD	DKEEPING REQUIREMENT				ANNUAL BURDEN			RECORDS	oundary	01, 2011
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOL (Col. I x J) (K)
	STATUS OF CERTIFICATION OF NON- PRODUCER STATUS			(-)						
260.314	Beef	None	1,500	36.0000	54,000.00	0.0300	1,620.00			0.
250.314	Beef Non-producer Certification Stamp	None	51	1040.0000	53,040.00	0.0080	424.32			0
280.407	Lamb	LS-78	3,318	12.0000	39,816.00	0.0300	1,194.48			0
220.241	Soybeans	LS-48	20	1.0000	20.00	0.0333	0.67			0
	APPLICATION FOR REFUND (When needed, letter submitted to request reimbursement.)									
218.53	Blueberries (letter)	None	45	1.0000	45.00	0.2500	11.25			0
206.43	Mangos Application for Reimbursement of Assessment	MAN-AFR	6	1.0000	6.00	0.2500	1.50			0
.209.52	Mushrooms Importer Application for Refund of Assessment	MUS-AFR	10	1.0000	10.00	0.2500	2.50			0
.221.120	Sorghum	LS-380	8,300	6.0000	49,800.00	0.1670	8,316.60			0
.210.520	Watermelons (letter)	None	10	1.0000	10.00	0.2500	2.50			0
.212.53 (e)	Honey P&I Application for Reimbursement of Assessments	HON-AFR	20	1.0000	20.00	0.2500	5.00			C

and recordkeepi in items 17 & 18 follows, & then e (G) Average (H	Use this form when a single information collection docume ng requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot ntered on the OMB-83-1. (F) Total/Total = (E) (Col. E's response is something other than annually, i.e., 1/6 y), (I), & (K) shoul als shall be comp Average (H) To lumns will calcul	d be entered buted, as btal/(F) Total = ate		MATION COLLECTIC arch, Promotion, a			Programs	ОМВ NO. 0581-0093 DATE PREPA	
	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU			January	31, 2011
		-			REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
1212.70	Honey P&I - Honey Handler Questionnaire (new form)	HON-HHQ	20		20.00		10.00			0.00
1250.348 1250.530	EGG PRODUCER/HANDLER EXEMPTION REGISTRATION - Eggs	No Form Number	17	1.0000	17.00	0.1660	2.82			0.00
1250.528	COLLECTING HANDLER REGISTRATION STATEMENT - Eggs	No Form Number	2	3.0000	6.00	0.1600	0.96			0.00
1250.530	CERTIFICATION OF PRODUCER EXEMPTION - Eggs	No Form Number	49	1.0000	49.00	0.0830	4.07			0.00

and recordkeepir	SUBTOTAL : Use this form when a single information collection docume og requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot	nt involves <u>multi</u>), (I), & (K) shoul	d be entered		92.00 MATION COLLECTIO arch, Promotion, a			0.00 Programs	ОМВ NO. 0581-0093	0.00
follows, & then er (G) Average (K	ntered on the OMB-83-1. (F) Total/Total = (E)	Average (H) To lumns will calcul	otal/(F) Total = ate					- ogi allo	DATE PREPAI	
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	JRDEN			
		-			REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	ORGANIC EXEMPTION REQUEST FORM (merging, OMB approved under 0581-0217)									
1260.302	Beef	AMS-15	167	1.0000	167.00	0.5000	83.50			0.00
1218.53	Blueberries	AMS-15	7	1.0000	7.00	0.5000	3.50			0.00
1205.519	Cotton	AMS-15	30	1.0000	30.00	0.5000	15.00			0.00
1150.157	Dairy	AMS-15	1,025	1.0000	1,025.00	0.5000	512.50			
1250.350	Eggs	AMS-15	0	0.0000	0.00	0.5000	0.00			0.00
1160.215	Fluid Milk	AMS-15	0	0.0000	0.00	0.5000	0.00			0.00

1219.202	Hass Avocados	AMS-15	60	1.0000	60.00	0.5000	30.00			0.00
	SUBTOTAL				1,289.00		644.50	0.00		0.00
and recordkeepin in items 17 & 18 follows, & then e (G) Average (K		, (I), & (K) should als shall be comp Average (H) To lumns will calcul	d be entered outed, as otal/(F) Total = ate		MATION COLLECTIO arch, Promotion, a			U U	омв NO. 0581-0093 date prepai	RED
will display.	Col. E's response is something other than annually, i.e., 1/6 y	ears, list as "1/6	" & decimal						January	31, 2011
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT				REPORTS	ANNUAL BU	JRDEN		RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(I)	KEEPER (J)	(К)
	ORGANIC EXEMPTION REQUEST FORM (cont'd)									
1212.53 (b)	Honey P&I	AMS-15	2	1.0000	2.00	0.5000	1.00			0.00
1280.406	Lamb	AMS-15	40	1.0000	40.00	0.5000	20.00			0.00
1206.202	Mangos	AMS-15	6	1.0000	6.00	0.5000	3.00			0.00
1209.252	Mushrooms	AMS-15	2	1.0000	2.00	0.5000	1.00			0.00
1216.56	Peanuts	AMS-15	54	1.0000	54.00	0.5000	27.00			0.00

1215.300	Popcorn	AMS-15	0	0.0000	0.00	0.5000	0.00			0.00	
1230.102	Pork	AMS-15	18	1.0000	18.00	0.5000	9.00			0.00	
	SUBTOTAL	-			122.00		61.00	0.00		0.00	
and recordkeepii in items 17 & 18	: Use this form when a single information collection docume ng requirements. The totals of the figures in cols. (D), (F), (H of OMB-83-I. For cols. (E), (F), & (J), the averages of the tot ntered on the OMB-83-1. (F) Total/Total = (E)), (I), & (K) shoul als shall be comp	d be entered outed, as		MATION COLLECTIO		I	Programs	омв NO. 0581-0093		
(G) Average (k automatically. If will display.		lumns will calcul	ate						DATE PREPA January	RED 31, 2011	
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	IRDEN				
					REPORTS				RECORDS	TOTAL	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS (Col. I x J)	
(A)	(cont'd)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
1207.514	Potatoes	AMS-15	35	1.0000	35.00	0.5000	17.50			0.00	
1221.117	Sorghum	AMS-15	10	1.0000	10.00	0.5000	5.00			0.00	
1220.302	Soybeans	AMS-15	1,028	1.0000	1,028.00	0.5000	514.00			0.00	
1210.516	Watermelons	AMS-15	28	1.0000	28.00	0.5000	14.00			0.00	
	APPLICATION FOR CERTIFICATION OF ORGANIZATION										
1260.540(a)	Beef (Producer) [Includes letter from Association requesting approval to nominate producers (LS-28, Statement of Certification, is also sent, but form is completed by AMS).]	LS-25	5	1.0000	5.00	0.5000	2.50			0.00	

1260.540(b)	Beef (Importer) [Letter requesting certification. Includes a letter from Association requesting approval to nominate importers.]	None	1	1.0000	1.00	0.5000	0.50			0.00
1205.341	Cotton [Letter to be Recognized as a Certified Producer Organization for Purposes of the Cotton Research & Promotion Act.]	None	1	1.0000	1.00	2.0000	2.00			0.00
	SUBTOTAL				1,108.00		555.50	0.00		0.00
and recordkeepin in items 17 & 18 follows, & then e (G) Average (K	: Use this form when a single information collection documen g requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the total thered on the OMB-83-1. (F) Total/Total = (E) (F) Total/(I) Total = (J) Average Col. E's response is something other than annually, i.e., 1/6 y	I, (I), & (K) shouid als shall be comp Average (H) To lumns will calcul	d be entered buted, as btal/(F) Total = ate		MATION COLLECTIO		I		омв NO. 0581-0093 DATE PREPAI January	
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	IRDEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B) APPLICATION FOR CERTIFICATION OF ORGANIZATION (cont'd)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
1150.273	Dairy (Producer) (Request approval for future use)	None	0	0.0000	0.00	0.0000	0.00			0.00
1160.114	Dairy (Processor) (Request approval for future use)	None	0	0.0000	0.00	0.0000	0.00			0.00
1250.356	Eggs	None	42	0.2000	8.40	1.0000	8.40			0.00
1212.42	Honey P&I	HON-ACO	10	1.0000	10.00	0.5000	5.00			0.00
1280.206	Lamb Producers (One time action; does not need to be repeated annually)	LS-82	10	1.0000	10.00	0.5000	5.00			0.00
1280.206	Lamb Producers Statement of Certification (Completed by AMS personnel only)	LS-83	0	0.0000	0.00	0.0000	0.00			0.00

1216.70	Peanuts	FV-265	20	1.0000	20.00	0.5000	10.00			0.00
1221.107	Sorghum Application for Certification of Organization to Nominate Board Members	None	20	0.2000	4.00	0.5000	2.00			0.00
1221.128	Application for Qualification as a State Sorghum Organization	None	22	0.2000	4.40	0.5000	2.20			0.00
	SUBTOTAL	_			56.80		32.60	0.00		0.0
and recordkeepi n items 17 & 18 ollows, & then e G) Average (I	S: Use this form when a single information collection docume ing requirements. The totals of the figures in cols. (D), (F), (H of 0 of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot entered on the OMB-83-1. (F) Total/Total = (J) Average (F) Total/Total = (E) NOTE: The cold for the cold of Coll. E's response is something other than annually, i.e., 1/6), (I), & (K) should als shall be comp Average (H) To blumns will calcul	d be entered outed, as otal/(F) Total = ate		MATION COLLECTIO			Programs	омв NO. 0581-0093 DATE PREPA January	
IDENTIF	FICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	JRDEN			
		-			REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOUR (Col. I x J)
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(I)	KEEPER (J)	(K)
1150.153	Application for Initial or Continued Qualification of State or Regional Dairy Product Promotion, Research, or Nutrition Education Program Dairy (Producer)	DA-15-CG	61	1.0000	61.00	3.0000	183.00			0.0
	NOMINATIONS AND SELECTIONS									
1260.143(a- d)	Beef	LS-26 or LS-26-1	80	1.0000	80.00	0.5000	40.00			0.0
									1	1

REPRODUCE LOCALLY.	Include form number and date on all reproductions.
--------------------	--

1218.41	Blueberries (Ballot)	BLU-NBF	18	1.0000	18.00	0.5000	9.00		0.00
1150.133	Dairy (Producer)	DA-19	36	1.0000	36.00	0.5000	18.00		0.00
	SUBTOTAL				213.00		259.00	0.00	0.00

	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
and recordkeeping requirements. The totals of the figures in cols. (D), (F), (H), (I), & (K) should be entered		
in items 17 & 18 of OMB-83-I. For cols. (E), (F), & (J), the averages of the totals shall be computed, as	National Research, Promotion, and Consumer Information Programs	0581-0093
follows, & then entered on the OMB-83-1.		
(F) Total/Total = (E) Average (H) Total/(F) Total =		
(G) Average (K) Total/(I) Total = (J) Average NOTE: The columns will calculate		DATE PREPARED
automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal		
will display.		January 31, 2011
		January 31, 2011

IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	IRDEN			
					REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
		(C)	(D)	(E)	(F)	(6)	(H)	(I)	(J)	(K)
	NOMINATIONS AND SELECTIONS (cont'd)									
1160.202	Dairy (Processor)	DA-19-1	15	1.0000	15.00	0.5000	7.50			0.00
1250.328(b)	Eggs (Areas alternate forms every other year)	1-AEB, 2- AEB	6	1.0000	6.00	0.5000	3.00			0.00
1219.33	Hass Avocados (Domestic) [vacancy]	AVO-OPS	24	0.3300	7.92	0.2500	1.98			0.00
1219.33	Hass Avocados (Domestic) [Ballot]	AVO-OPB	24	0.3300	7.92	0.2500	1.98			0.00
1219.33	Hass Avocados (Importer) [Vacancy]	AVO-OIS	12	0.3300	3.96	0.2500	0.99			0.00
1219.33	Hass Avocados (Importer) ^[Ballot]	AVO-OIB	12	0.3300	3.96	0.2500	0.99			0.00
1240.32(b)	Honey P&I (Nomination Form)	HON-NOM	10	1.0000	10.00	0.5000	5.00			0.00
1280.202	Lamb Nomination Form	LS-84	20	1.0000	20.00	0.5000	10.00			0.00
1206.31	Mangos [Nomination formsEnglish, Spanish, Portuguese)	MAN-NOM	65	0.3333	21.66	0.2500	5.42			0.00
1206.31	Mangos [Ballots from domestic producers, importers, foreign producers, first handlers]	MAN-BAL	65	0.3300	21.45	0.2500	5.36			0.00

	SUBTOTAL	-			117.87		42.22	0.00		0.00
and recordkeepir in items 17 & 18 follows, & then e (G) Average (K	Use this form when a single information collection docume ng requirements. The totals of the figures in cols. (D), (F), (H of OMB-83-1. For cols. (E), (F), & (J), the averages of the tot intered on the OMB-83-1. (F) Total/Total = (E) (Col. E's response is something other than annually, i.e., 1/6), (I), & (K) shoul als shall be com Average (H) To olumns will calcu	d be entered outed, as otal/(F) Total = late		MATION COLLECTIO arch, Promotion, a			Programs	OMB NO. 0581-0093 DATE PREPA January	RED 31, 2011
IDENTIFI	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT	_		ļ		ANNUAL B	JRDEN			
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	REPORTS TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
	NOMINATIONS AND SELECTIONS (cont'd)									
1209.31	Mushrooms (Nomination form)	MUS-NFC	18	0.3300	5.94	0.5000	2.97			0.00
1209.31	Mushrooms (Ballot)	MUS-NBF	18	0.3300	5.94	0.5000	2.97			0.00
1216.41	Peanuts [No form; burden is for acclamation voting at nomination meeting]	None	40	0.3300	13.20	0.5000	6.60			0.00
1215.22	Popcorn	FV-270	18	0.3300	5.94	0.5000	2.97			0.00
1230.31	Pork (National Pork Producers Delegate Body	LS-35	150	1.0000	150.00	0.5000	75.00			0.00
1207.322	Potatoes [No form; burden is for acclamation voting at nomination meeting]	None	214	0.3300	70.62	0.5000	35.31			0.00
1221.101	Nominations of Sorghum Producers	None	22	0.3300	7.26	0.5000	3.63			0.00
1220.203	Soybeans	LS-45R	30	1.0000	30.00	0.5000	15.00			0.00
	SUBTOTAL	-			288.90		144.45	0.00		0.00

and recordkeepi in items 17 & 18	S: Use this form when a single information collection docume ng requirements. The totals of the figures in cols. (D), (F), (H) of OMB-83-1. For cols. (E), (F), & (J), the averages of the totan intered on the OMB-83-1.), (I), & (K) shoul als shall be com	d be entered puted, as		MATION COLLECTIC arch, Promotion, a		I	Programs	омв NO. 0581-0093	
(G) Average (H automatically. If will display.	(F) Total/Total = (E) (Y) Total/(I) Total = (J) Average NOTE: The co Col. E's response is something other than annually, i.e., 1/6 y	lumns will calcul	late			DATE PREPARED January 31, 201				
IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	JRDEN			
		-			REPORTS				RECORDS	
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
1210.321	NOMINATIONS AND SELECTIONS (cont'd) - Watermelons [No form; burden is for acclamation voting at nomination meeting]	None	250	0.3300	82.50	0.5000	41.25			0.04
	Background Questionnaire Information Form for Nominees [Burden covered under OMB 0505-0001.]	AD-755	672	1.0000	672.00	0.5000	336.00			0.04
	Acceptance [No burden determined; only signature is required.]									
1150.134	Dairy (Producer)	None			0.00		0.00			0.0
1160.203	Dairy (Processor)	None			0.00		0.00			0.0
1250.330	Eggs	None			0.00		0.00			
1209.32	Mushrooms	None			0.00		0.00			0.0
	SUBTOTAL				82.50		41.25	0.00)	0.0

and recordkeepi in items 17 & 18	S: Use this form when a single information collection docum ng requirements. The totals of the figures in cols. (D), (F), (of OMB-83-1. For cols. (E), (F), & (J), the averages of the t entered on the OMB-83-1.	H), (I), & (K) shoul otals shall be com	ld be entered puted, as	National Research, Promotion, and Consumer Information Programs						омв NO. 0581-0093	
(G) Average (H automatically. If will display.	(F) Total/Total = (I <) Total/(I) Total = (J) Average NOTE: The Col. E's response is something other than annually, i.e., 1/6	columns will calcu	late		DATE PREPARED January 31, 201						
IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUAL BU	JRDEN				
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOUI (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
	ACCEPTANCE (cont.)										
1215.23	Popcorn	None			0.00		0.00			0.0	
1207.323	Potatoes	None			0.00		0.00			0.	
1210.323	Watermelons	None			0.00		0.00			0.	
1260.311	RECORDKEEPING REQUIREMENTS										
1218.61	Blueberries				0.00		0.00	1,607	0.500	803.	
1205.338	Cotton				0.00		0.00	304	4 0.250	76.	
1150.172	Dairy (Producer)				0.00		0.00	600	0.204	122.	

	SUBTOTAL				0.00		0.00	2,511.00		1,001.90
and recordkeepi in items 17 & 18	S: Use this form when a single information collection documering requirements. The totals of the figures in cols. (D), (F), (H) 3 of OMB-83-1. For cols. (E), (F), & (J), the averages of the tota entered on the OMB-83-1. (F) Total/Total = (E)	, (I), & (K) shoul als shall be com	d be entered outed, as		mation collection arch, Promotion, a				омв NO. 0581-0093	
	K) Total/(I) Total = (J) Average NOTE: The co f Col. E's response is something other than annually, i.e., 1/6 y	lumns will calcu	ate						DATE PREPAR	
IDENTIF	FICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
				REPORTS RECOR						
SECTION OF REGS. (A)	DESCRIPTION (B)	FORMS NO (S) (If "none" so state) (C)	NO. OF RESPONDENTS (D)	NO OF RESPONSES PER RESPONDENT (E)	TOTAL ANNUAL RESPONSES (Col. D x E) (F)	HOURS PER RESPONSE (G)	TOTAL HOURS (Col. F x G) (H)	NO. OF RECORD- KEEPERS (I)	ANNUAL HOURS PER RECORD- KEEPER (J)	TOTAL RECORD- KEEPING HOURS (Col. I x J) (K)
	RECORDKEEPING REQUIREMENTS (cont.)							0		
1160.402	Dairy (Processor)				0.00		0.00	410	0.200	82.00
1250.535	Eggs				0.00		0.00	438	0.017	7.4
1219.61	Hass Avocados				0.00		0.00	6,200	0.500	3,100.0
1240.51	Honey P&I				0.00		0.00	118	0.500	59.0
.206.60	Mangos				0.00		0.00	60	0.500	30.0
.209.61	Mushrooms				0.00		0.00	170	0.500	85.0

									· · · · · ·	·
	SUBTOTAL				0.00		0.00	7,396.00		3,363.45
	: Use this form when a single information collection documer			TITLE OF INFOR	MATION COLLECTIC	N DOCUMEN	Т		OMB NO.	
nd recordkeeping requirements. The totals of the figures in cols. (D), (F), (H) n items 17 & 18 of OMB-83-I. For cols. (E), (F), & (J), the averages of the tota ollows, & then entered on the OMB-83-1.		als shall be computed, as		National Research, Promotion, and Consumer Information Programs					0581-0093	
G) Average (k	(F) Total/Total = (E) (S) Total/(I) Total = (J) Average NOTE: The co								DATE PREPA	RED
automatically. If will display.	Col. E's response is something other than annually, i.e., 1/6 y	ears, list as "1/6	" & decimal						January	31, 2011
IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
				RECORDS						
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	RECORDKEEPING REQUIREMENTS (cont.)									
1216.61	Peanuts				0.00		0.00	15,176	0.500	7,588.0
1215.61	Popcorn				0.00		0.00	49	0.500	24.5
1207.351	Potatoes				0.00		0.00	6,608	0.500	3,304.0
1221.124, 1221.125	Sorghum				0.00		0.00	35,022	0.100	3,502.2
1220.312	Soybeans				0.00		0.00	5,000	0.110	550.0
L210.351	Watermelons				0.00		0.00	2,217	0.500	1,108.5
1260.311(f)	CERTIFICATION OF PRODUCER DIRECTED PAYMENT OF CATTLE ASSESSMENTS -Beef				0.00		0.00	100	0.400	40.0
	NOTE: Other recordkeeping requirements for the Beef and Pork programs are already approved under the Packers and Stockyards Administration.									
	SUBTOTAL				0.00		0.00	64,172.00		16,117.2